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14. What will be the remainder obtained 14, (9% + 1) ®1 8 A Rwfa 33 wWurE
when (9'% + 1) will be divided by 8 ? duwd fFaar grm 2
a) 0 a) 0 0%
b) 3 b) 3 ﬁ —+ |
c) 7 c) 7 — 2
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15. What will be the remainder obtained 15. (9'%¢ - 5) 315 A Rwiftra 3 wura
when (9'% . 5) will be divided by 8 ? vuwd fFa= ghm 2
a) a) 0 ,5‘@
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16. Find the remainder of 2'%% when divided 16, 2'%° & 3 & WIS 73 T Tra A=

S )T Y L e
b) 2 e F et b) 2 2
c) 4 3 l c) 4 ’%
d 0 5 Q0D d) 0
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18. What is the remainder of 6% / 215 ? 18. 6/ 215 &1 WuTH a2
a) 0 |\ 22— a) 0 24
¢ 2 ¢ 2

d) None of these ﬁl-lS
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56. What is the remainder when 91x 92 x 93 x 94 x s‘,MW.wﬂxu.”xux”.“xn

95 x 96 x 97 x 98 x 99 is divided by 1261 ? x 98 x 99 #! 1261 A Avifa o aar 2
UPSC PT 2022 7’
a) 3 a) 3 o
b) 2 b) 2 j’fXﬁZﬁBXﬁ%xss
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60. What is the remainder when 85 x 87 x 89 60. HUGH fFa=1 1, &4 85 x 87 x 89 x 91

x 91 x 95 x 96 is divided by 100 ? x 95 x 96 ®1 100 A RAwifta oo # 2
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\y/o \)A =€ XK~ X%SX‘?)
b) 1 b) 1
c) 2 c) 2
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61. What
is the
unit
digit in the cxpa:\:on
of
61. WD (57242)°
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b) 4
b) 4

c) 6
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